DE
$$|y| = y - y$$
 $|y|(s) = 3$ $|y'(s)| = 0$

DE $|y'| = u$ $|y'| = u$ $|y'| = 0$
 $|x| = u - y|$ $|y'| = 0$
 $|x| = u - y|$ $|x| = 0$
 $|x| = u - y|$ $|x| = 0$
 $|x| = 0$

With $|x| = 0$, $|x| = 0$ $|x| = 0$

With $|x| = 0$, $|x| = 0$ $|x| = 0$

With $|x| = 0$ $|x| = 0$

With $|x| = 0$ $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$
 $|x| = 0$

1:39

Let Ai = A(ti), fi = f(ti). y = yo + hAoyo + hfo = (I + hAo)yo + hfo y2 = y1 + hA1y1 + hf1 = (I+hA1)y1 + hf1 = (I+hAi)(I+hAo)yo+hfo]+hfi = (I+hA1)(I+hA0)yo + (I+hA1)hfo +hf1 43 = 42 + hAzyz + hfz = (I + hAz)yz + hfz = (I+hAz) (I+hAi) (I+hAo) yo] + (I+hAz) (I+hAi) hfo +hfi] +hfz $y_n = \frac{n-1}{T} (T + hA_i) y_0 + \frac{n-1}{i=1} (T + hA_i) hf_i$ $= \frac{n-1}{T} (T + hA_i) y_0$ $= \frac{n-1}{T} (T + hA_i) hf_i$ yn = Mny(0) + bn Where neither Mn nor bon depends on y(0).

3 ((+x)y') + y = 3x² + 9x + 3
(1+x)y'' + (1+x)y'' + y = 3x² + 9x + 3
(1+x)y'' + y' + y = 3x² + 9x + 3
3(a) FD.

$$V = y'(x_i) = y(x_{i+1}) - y(x_{i+1})$$

 $y''(x_i) = y(x_{i+1}) - 2y(x_i) + y(x_{i+1})$
The trin case y_i
 $v''(x_i) = v''(x_{i+1}) - 2y(x_i) + y(x_{i+1})$
 $v''(x_i) = v''(x_i) + v''(x_{i+1})$
 $v''(x_i) = v''(x_i) + v''(x_{i+1})$
 $v''(x_i) = v''(x_i) + v''(x_i) + v''(x_i)$
 $v'''(x_i) =$

 $S_1 = \frac{-s}{4}$

1:52

3(b) collocation at $x = \frac{1}{2}$ with $\phi(x) = x(1-x)$. I.e. $Y_{M} = \alpha \times (1-x)$ with $(1+\frac{1}{2})Y''(\frac{1}{2}) + Y'(\frac{1}{2}) + Y(\frac{1}{2}) = \frac{33}{4}$ $Y'_{M} = \alpha(1-2x), Y''(\alpha) = \alpha(-2).$ So want $\frac{3}{2}(-2\alpha) + \alpha(1-2\frac{1}{2}) + \alpha\frac{1}{2}(1-\frac{1}{2}) = \frac{33}{4}$ $\alpha = \frac{33}{4}/-\frac{11}{4} = -3$

 $Y_{c}(x) = -3 \times (1-x).$ 1:52 $Y_{c}(\frac{1}{2}) = -3 \cdot \frac{1}{2} \cdot \frac{1}{2} = -\frac{3}{4}.$

1:52 f(0) = f(0) f(h) = f(o) + hf(o) + 2f(o) + O(h3) f(2h) = f(0) + 2hf(0) + (2h)2f(0) + O(h3) Seek Co, C, C2 such that $cof(0) + c, f(h) + czf(2h) = f'(0) + O(h^2)$ Thus require Co + C1 + C2 = 0 Co.O + C.h + C2.2h=1 Co. 0 + C, h2 + Q. (2h) = 0 1. Co + C1 + C2 = 0 C1 + 2 c2 = 1 C1 + 4C2 = 0 3-0; 2c=-1, c=== (2) \Rightarrow $c_1 = \frac{1}{h} - 2 \cdot (-\frac{1}{2h})$ $= \frac{1}{h}(1+1) = \frac{2}{h}$

$$(2) \Rightarrow c_1 = \frac{1}{h} - \frac{2 \cdot (-\frac{1}{2h})}{2h}$$

$$= \frac{1}{h}(1+1) = \frac{2}{h}$$

$$= -(\frac{2}{h}) - (-\frac{1}{2h}) = \frac{-2+\frac{1}{2}}{h} = -\frac{2}{2h}$$

$$= -(\frac{2}{h}) - (-\frac{1}{2h}) = \frac{-2+\frac{1}{2}}{h} = -\frac{2}{2h}$$

$$= -\frac{2}{h}(0) + \frac{2}{h}(0) - \frac{1}{h}(0) + \frac{0}{h}(0)$$

$$= -\frac{3}{h}(0) + \frac{4}{h}(0) - \frac{1}{h}(0) = 0$$

2:05